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Transformations with Lines

L The line v=2x — 4 is dilated by a scale factor of -:- and centered af the origin. Which equation
represents the image of the line after the dilation?
() y=2x-4
(2) y=2x -6
(3) v=3x-4
{4y v=3x-6
2.

What is an equation of the image of a line with equation 3x - 2y = 6 that is rotated
90° clockwise about the origin?

A) 2+3y=-6 C) Ze+3y=6
B) 2x-3y=6 D) 2x-3y=-6

3. If the line with equation y + 2 = 3x is translated <2, -1>. Write an equation of
a line that represents the image of the line after the translation.



The equation of line iis T+ y/=1. Line m is the image of line / after a dilation of
scale factor 4 with respect » the origin. What is the equation of the line m?

(1) y=-2x+1
(3) y=2x+4

4y v=2x+1

If the line with equationy x - 5! is rotated 90° counterclockwise about the origin, an
equation of its image is ‘
Ay y=-x-5 B y=x+5 Cy y=x-5 Dy y=-=x+5

€. If the line with equation . vy + 4) = x is translated 3 units to the left and 2 units
cown, write an equation to eapureisent the new image.




7. .
‘What is an equation of the image of a line with equation y = - + 3 that is rofated

90° clockwise about the origin?
Ay y==x-3 B) y=x-3 Cy y=x+3 D) y=-x+3

8 If the line with equation 4x + 3y = 12 is rotated 90° counterclockwise about the origin,
what are the coordinates of the image of its y-intercept?

A) 4,0) By (12,0) C) (-12,0) Dy (-4,0)

If the line with equation 2x +y = 7 is rotated 90° clockwise about the origin, the

+. mande psenay
coordinates of the image of its y-intercept aie

a)y 7.0) B} (-7.0) ) 2.0 D) {0,-7)
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What is an equation of the image of a line with equation 3x - 2y = 6 that is r&tated
90° clockwise about the origin?

(B) 2 +3y =6 C) 2c+3y=6
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¥= “Ix+1

()

p=_2v+4
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cdlown, write an equation to :zpresent the new image.

y=x+5
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If the line with equation ¥y x - 3 is rotated 90° counterclockwise about the origin, an

Cy y=x-5 y=-x+5
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What is an equation of%e imdge of a line with equation y = = + 3 that is rofated
190° clockwise about the origin?

Ay y=-x-3 >y=x-3 C) y=x+3 D)y y=-x+3

8 If the line with equation 4x + 3y = 12 is rotated 90° counterclockwise about the origin,
what are the coordinates of the image of its y-intercept? (T3

A) (4,0) B) (12,0) C) (12,0) \&@ (-4,0)
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If the line with equaﬁon Zx +y = 7 is rotated 90° clockwise about the origin, the
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